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Vl Semester B.Com. Examination, September/Octobt 2022
(CBCS) (Fresh + Repeaters) (2017 - 18 and Onwards)

COMMERCE
Accounting and Taxation Group

Elective Paper - lll : Business Taxation

Max. Marks:70

lnstruction : Answer should be wriften completely in Kannada or in
English.

SECTION - A

(3x6=18)

SECTION - B

Answer any 3 questions. Each question carries six marks.

2. Explain the objectives of customs dug.

3. What do you mean by limited liability partnership ? State its features.

4. From the following information, compute the assessable value :

a) Value of machine in UK pounds 64,000 FOB

b) Engineering and design charges paid - UK pounds 24,OOO

c) Freight paid (Air) - UK pounds 12,000

d) lnsurance- Not known

e) Commission payable to local agent @ 2/" ol FOB in lndian Rupees'

l) The exchange rate announced by the Central Government is t 68 per 1

UK pound.

,l

a\
P.T.O.

(5x2=lQ)
\- 

Answer any five sub-questions. Each sub-question carries two marks.
\- 1. a) Who is a working partner ?

b) What is a widely held company ?
c) What is Custom Duty ?

d) Expand PAN and ClF.

e) What is block of assets ?
f) What is a resident lirm ?
g) What do you mean by self assessment ?

I
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5. Mr. Hariwanth Ganesh estimated the following incomes relevant for the
Assessment Year 2021 -22.
a) Computed income from House Property Rs. 70,000/-

b) Computed income from business Rs. 4,30,000/-

Calculate advance tax payable.

6. A block of asset consist of 5 machines. The WDV of machinery as on 01-04-2020
is Rs. 1,80,000. Rate of depreciation is 15%. A new machine costing
Rs. 1,60,000 was acquired in May 2020 but actually put to use only on 1O-1O-2O2O.
Two old machines are also sold for Rs. 3,20,000 in Dec. 2020.
Compute depreciation on block of assets for the A.Y . 2021 - 22.

SECTION - C

Answer any 3 questions. Each question carries fourteen marks : (3x14=42)

7. swathi and sneha are partners sharing profit and losses equally. The lollowing
is the Profit and Loss Account for the year ending 91-09-2021 .

Particuiars
Otfice expenses

Salary to employees
lncome tax
Salary to Swathi
Salary to Sneha
lnterest on Capital Swathi
@ 15"/"

lnterest on Capital Sneha
@ 15%

Net profit

5,000

5,70,000

'r5,000 sTcG 2,OO,OOO

18,35,000

Additional lnformation I

{
3,00,000

80,000

40,000

2,40,OOO

2,64,000

20,000
8,76,000

18,35,000

Particulars
Receipts from clients
lnterest recovered from
Swathi and Sneha
lnterest from Govt.
securities

{
10,60,000

1) out of office Expenses t 2s,000 is not deductibre by virtue of Section 30
to 37.

2) During the year the firm sells a Capital Asset for { 10,00,000 (lndexed
Cost of Acquisition being { 2,OO,OO0)
Find out the net income and tax riabirity of the firm for the A.y. 2021 - 22.
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" Net

Total

Amount

?

20,0o,ooo

6,000

1,70,000

2,60,000

1,20,000

5,74,000

31,3o,ooo

22.
Particurars

By Sales

" Long Term Capital

,, 
Ciain Gxernpt t/s 10 (3g)
,nterest on

Government Securities

Total

IililWff/Mfr//ffiM

A,DoUntTo Cost ofgoods sold
" Tax relafing to LTCG
" Depreciation

" Proposed dividend
" Incorne Tax

I

profit

28,0o,ooo

3,00,000

30,000

3r,30,oooAdditional lnformaffon :
i) Depreciation allowable for the year as per lncome Tax Act is t 1,00,000.ii) Brought forwarded Bu .

srness Loss as per books of accounts is t 2,50,000.iii) Brought fonrvarded Unabsorbed Depreciation is { 1 ,10,000.
Compute:

i) Total lncome of the company under normal provisions.
ii) Tax liability of the company.

iii) Tax payabte u/s 1 15 - JB.

11, A person makes an unauthorized lmport of 10,000 pieces of ophthalmic Rough
Blanks clF priced at 1 dollar per piece by Air from USA (Tariff heading 53.1 5.1 0).
The Consignment is liable to be confiscated lmport is adjudicated, Assistant
Commissioner gives to the parties an option to pay fine in lieu of confiscation.
It is proposed to impose fine equal to 50% of margin of profit. The market price

is t 100 per piece of ophthalmic rough blank. The rate of duties as per basic

customs 10%, SWS as applicable and IGST 18%. Exchange rate is

1 US $ = { 60, Compute :

a) Amount of fine

b) Total amount payable by party to clear the consignment, what is the

maximum amount of fine that can be imposed in this case ?
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the tollowing :

Debits of P/L Account :

a) Donation paid to approved Public Charitable Trust Rs' 40'000'

b) Provision for lncome Tax { 2'00'000'

c) Family Planning Expenses { 50'000'

d) Capital expenditure on Family Planning { 2'00'000'

Credits to P/L Account :

a) Bad debts allowed earlier recovered during the previous year t 20,000'

b) lnterest on Bank Deposits t 60,000.

c) Long Term Capital Gain { 2,00,000.

d) Dividend from lndian company { 40,000 (gross)

There was :

a) Unabsorbed Depreciation t 70,000 and

b) Unabsorlced Capital Loss t 80,000 brought fonrrard from the earlier
Assessment Year.
compute Total rncome and rax Liabirity of the company for the Assessment
Year 2021 -22.
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t1 Excnange rat

o) Basic customs dutY 10"/o'

ii ,osr 9 111r; Gess appticable at 10% on BcD'

i) Social Wetfa
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